[bookmark: _GoBack]	In Oedipus by Sophocles, Oedipus is a blind seer because he can physically see, but he can’t see the truth that he is the killer of King Lauis. On the other hand, Tiresias is a blind seer because he cannot physically see, but knows that Oedipus is the killer.  In the play, Oedipus has been told that he must find the killer of King Lauis to end the plague in Thebes. Ironically, he is “blind” to the fact that he is the killer even though Tiresias tries to make this clear to him. It is obvious  that Oedipus is a blind seer because he said, “________________________________________________________________________________.”
This shows that Oedipus is blind to the truth because _________________________________________________________________________________________________________________________________________________________________________.
Unlike Oedipus, Tiresias is physically blind but he tries to help Oedipus see the truth. For example, he says, “________________________________________________________________________________________________________________________________________________________________________.”
This shows that Tiresias is a blind seer because _________________________________________________________________________________________________________________________________________________________________________.”
In conclusion, _________________________________________________________________________________________________________________________________________________________________________.  
